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t = 1.02210E+06 [yr]
ê

 460 AU × 460 AU  3.e-1 3.e-1

  
 

 

  
 

 

  
 
 

  
  

t = 9.41112E+05 [yr]
ê

 230 AU × 230 AU  2.e-1 2.e-1
  

 

 

  
 

 

  
 
 

  
  

  
  
  

  

t = 1.00887E+06 [yr]
ê

 460 AU × 460 AU  3.e-1 2.e-1

  
 

 

  
 

 

  
 
 

t = 8.98457E+05 [yr]
ê

 115 AU × 115 AU  1.e-1 1.e-1
  

 

 

  
 

 

  
 
 

  
  

t = 9.34607E+05 [yr]
ê

 230 AU × 230 AU  2.e-1 1.e-1
  

 

 

  
 

 

  
 
 

  
  

t = 1.00166E+06 [yr]
ê

 460 AU × 460 AU  3.e-1 1.e-1

  
 

 

  
 

 

  
 
 

t = 8.87930E+05 [yr]

 57 AU × 57 AU  5.e-2 5.e-2
  

 

 

  
 

 

  
 
 

  
  

t = 8.96365E+05 [yr]
ê

 115 AU × 115 AU  1.e-1 5.e-2
  

 

 

  
 

 

  
 
 

t = 9.33863E+05 [yr]
ê

 230 AU × 230 AU  2.e-1 5.e-2
  

 

 

  
 

 

  
 
 

  
  

t = 1.00111E+06 [yr]
ê

 460 AU × 460 AU  3.e-1 5.e-2

  
 

 

  
 

 

t = 8.85212E+05 [yr]

 28 AU × 28 AU  3.e-2 3.e-2
  

 

 

  
 

 

t = 8.87217E+05 [yr]

 57 AU × 57 AU  5.e-2 3.e-2
  

 

 

  
 

 

  
 
 

t = 8.96096E+05 [yr]
ê

 115 AU × 115 AU  1.e-1 3.e-2
  

 

 

  
 

 

  
 
 

t = 9.33577E+05 [yr]
ê

 230 AU × 230 AU  2.e-1 3.e-2
  

 

 

  
 

 

  
 
 

  
  

  
  

t = 1.00169E+06 [yr]
ê

 920 AU × 920 AU  3.e-1 3.e-2

  
 

 

  
 

 

  
 
 

t = 8.84813E+05 [yr]

 57 AU × 57 AU  3.e-2 1.e-2
  

 

 

  
 

 

  
 
 

t = 8.86881E+05 [yr]

 57 AU × 57 AU  5.e-2 1.e-2
  

 

 

  
 

 

  
 
 

  
  

  
  

t = 8.95498E+05 [yr]
ê

 230 AU × 230 AU  1.e-1 1.e-2
  

 

 

  
 

 

  
 
 

  
  

  
  

t = 9.32422E+05 [yr]
ê

 230 AU × 230 AU  2.e-1 1.e-2
  

 

 

  
 

 

t = 9.98361E+05 [yr]
ê

 230 AU × 230 AU  3.e-1 1.e-2

  
 

 

  
 

 

  
 
 

t = 8.84730E+05 [yr]

 57 AU × 57 AU  3.e-2 0.e+0
  

 

 

  
 

 

  
 
 

  
  

t = 8.86722E+05 [yr]

 115 AU × 115 AU  5.e-2 0.e+0
  

 

 

  
 

 

  
 
 

t = 8.95854E+05 [yr]
ê

 115 AU × 115 AU  1.e-1 0.e+0
  

 

 

  
 

 

  
 
 

  
  

t = 9.32582E+05 [yr]
ê

 230 AU × 230 AU  2.e-1 0.e+0
  

 

 

  
 

 

  
 
 

  
  

  
  

t = 1.00093E+06 [yr]
ê

 230 AU × 230 AU  3.e-1 0.e+0

  
  

log n [cmë −3]
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